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ASSIGNMENT #2 REPORT





1. PROBLEM DESCRIPTION:





* Mutual exclusion algorithm, Tanenbaum 92, pp. 476 





 * 1 producer, n consumers, 1 buffer of size 1 





*  The producer writes, in an endless loop, succeeding integer values into a buffer. The buffer can contain at most one value. This value is also displayed in a scrollbar, for visual validation. 





* Each consumer, concurrently to the others, tries to get the value from the buffer. After the value of the buffer is read, the buffer is cleared. Thus, more than one consumer cannot read the same value ! Each consumer displays the value it has read in its own scrollbar. 





* Example: 


Producer 1 2 3 4 5 6 7 8


ConsumerA 3 6


ConsumerB 1 2 4 8


ConsumerC 5 7





2. SOLUTION IDEA:





Two applets (one for producer and one for consumer) are written for  this assignment. 





Producer applet has a text field and a start stop button. There is a buffer of size one in which the produced number is stored. Unless the producer is suspended it continuously produces numbers, two numbers in a second. The produced number will be displayed in the text field. In order to show a number is produced, a boolean variable, called 


valueSet in the program, is set. Puting a number to buffer is done with "put" method in the applet. In order to give the number in buffer to consumers a method, called "get", is written. In that method valueSet variable is controlled to see if a number is put to buffer or not. In order to allow putting to and reading from the buffer one in a moment both put and get methods are synchronized. The start/stop button starts and stops the production.





Consumers use get method in Producer class to get the produced number in buffer. Unless it is suspended it always tries to get the produced number from the buffer in producer. Whenever it reads a number it displays it in its text area. The start/stop button starts and stops the consuming of that consumer, i.e. that consumer starts or stops


getting a number from producer.





3. PROBLEM SOLUTION:





Class diagram : There are two classes "producer" and "consumer", both inherited from applet class. In addition to normal methods of the applet class, producer has two more classes, namely "put" and "get". Consumer class uses get method of the producer class.
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Module (process) diagram : HTML page has an instance of the producer class. It also has many instance of the consumer class. Number of consumers is not restricted in the assignment. The HTML page I write has 3 instance of the consumer class.
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Network configuration : This program is downloaded to the client and runs on the client. So no need for configuring the network.








